751 2-(2- )
5
E+n x 10 E+3 x 1000
(ke/ ) (kg/

1 2.9E+3 2,930.0 2,930.0
2 2.2E+3 2,200.0 2,200.0
3
4 1.9E+3 1,900.0 1,900.0
5
6
7
8 2.0E-1 0.2 2.0E+4 20,136.0 20,136.2
9 9.1E+1 90.5 2.0E+1 20.0 1105
10
11 1.1E+0 11 15E+3 1,462.0 1,463.1
12 6.4E+0 15E+0 7.9 7.9
13
14 2.2E+2 1.8E+4 18,220.0 15E+1 1.0E+0 16.0 18,236.0
15
16
17
18
19
20
21
22 7.5E+3 1.6E+3 9,167.2 5.6E+4 15E+3 57,542.0 66,709.2
23 3.1E+3 2.5E+3 5,653.8 1.1E+2 110.0 5,763.8
24 7.2E+2 721.0 1.1E+4 10,900.0 11,621.0
25 1.2E+1 120 8.5E+2 846.0 858.0
26 1.1E+1 11.0 4.2E+3 2.3E+3 6,485.4 6,496.4
27 8.8E+2 880.0 1.2E+3 2.3E+4 24,327.2 25,207.2
28 2.0E-1 0.2 3.2E+0 3.3E+3 3,338.1 3,338.3
29
30 5.2E+2 520.8 4,0E+0 4.0 524.8
31 1.2E+1 120 12.0
32
33 1.6E+3 1,600.0 1,600.0
34 1.2E+3 3.0E+3 4,200.0 5.6E+1 56.0 4,256.0
35 3.0E-1 0.3 2.7E+0 2.7 3.0
36
37
38
39 4.6E+3 4,600.0 5.0E-1 0.5 4,600.5
40 1.4E+3 1,400.0 1,400.0
41 1.2E+3 1,200.0 1,200.0
42
43 1.0E+0 1.0 2.5E+3 2,500.0 2,501.0
44 5.8E+2 3.8E+1 618.0 618.0
45 A47E+3 4,700.0 1.7E+2 170.0 4,870.0
46
47

1.6E+4 A41E+4 57,039.1 6.3E+4 6.9E+4 131,523.8 188,562.9
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